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SHI T T SYAT &7

What is the use of trammel?

(a)
(b)
(©)
(d)

&2 g %! sHMT / Laying out a large circle

fteft 7@ =T / Scribing straight line

oIie g T o WieT / Digging bulk materials

<1 firet U et o off= W @l S8 1S9 / Checking gaps between two mating surface

it o TER =l a1 7T foran SiraT | 3geT FRoT 2

Head of a chisel is not hardened. The reason is to

(a)
(b)
(c)
(d)

S+t % T =1 %7 FW & fIT / Reduce the cost of chisel

el o eI o SR Rt 1 &fd & T % 79T / Avoid damage of head during hammer blow
HTR 1 <1 § a9M & fTT / Avoid injury to the operator

§UIS % TSI S e & 5= % 77 / Avoid the slippage during hammer blow

T Wi & o IR A Sl -T1 e Tel 27
Which of the following statements is TRUE for a Steel rule?

(@
(b)
(©)
(d)

Terfea st o1 U1 / Marking instrument

JTeIA1 39 / Precision instrument

i< T T 39T / Checking instrument

e {4 A9 3T / Direct reading measuring instrument

Trerteritaa 4 & forersa s S 2w 3 siftw e i sifer & R dar &7
Which of the following is used to check the final fit of mating tapers?

(@)
(©

ST E15 / Layout dye (b) wREAE / Prussian blue
Ufiefén e / Penetrating dye (d) <fSTEs / Lapping compound

e St et o fore, Freforfaa 4 @ sm-arad 27
Which of the following is TRUE for a Jenny Calliper?

(@

(b)
(©

d

M o TR, T gt vt weh Y wies & 1T / To draw a line at a set distance from the edge of
the work
T @i o =am ol Sife % T / To check the diameter of an internal groove

SITRJ ST o Shesiie0T ol <114 % fTC / To check the concentricity of the outside diameter
W % Iv oY Sife o fTT / To check the angle of a taper
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10.

11.

12.

e 3w, 9 e ) Pt et ¥ R e, e s, e J @ wH-a e

Which of the following hand tool is used to mark the centre of a hole when drilling?

(@) =9 /Centre Punch (b) efew== /Dot Punch
(c) gEau= /Drive Punch (@ (a) 3 (b)IHI /Both (a) and (b)
T e T I3 B

Purpose of an angle plate is

(a) @ %I gsheT / Work holding

(b) 3SR FFHS / Tool holding

() (a)3M(b)3i / Both (a) and (b)

(d) e ¥ frn % g W e ffed T / Marking lines parallel to the edge of a job

feferfiaa & & S-a7 geieT T ST 3 forg 3w g =7

Which of the following hammers is used for softer blow?

(a) wiSSgde / Sledge hammer : (b) g ErEr / Rubber hammer

(c) @ gdter/ Club hammer (d) siadFgeer / Ball Peen hammer

T 4 om e 37T 9 om ST % 3w g e i s 34:, 3 om e 3 Tl shl ST T | ST ST
HepaTel T shl FET 8

A solid metal cylinder of radius 4 cm and height 9 cm is melted and recast into spheres each of
radius 3 cm. Number of spheres that can be made is

(@ 1 ® 2
(c) 4 (d 8
T 4l o shred =ht o, o 3T T2 Bt

The cutting action of a file DOES NOT depends upon

(a) o1 1 WoRTC 3T g o ot a1 ¥ / Kind of cut and spacing of teeth
(b) et atal i meEAr / Arrangement of teeth on the file

(c) et s TR 3 N / Size and shape of the file

(d) ThF AR / Thickness of the file

a1, TR Yeft T ot -aTe 1 /7

What is the cross section of a knife edge file?

(a) P / Triangle (b) & /Round

(c) A /Square (d adma /Half round

TSR 3 ST STe 3 BT TaTe ) FrTert & SwRii Eed ST & A &

Name the hand tool used to remove the high spots of a job after machining.

(@ B /Chisel (b) @R / Scriber
(c) %R / Scraper (d) SHREHAFZE / None of the above

4 702 TE(F)



13.

14.

—

15.

16.

17.

ETHR ST (356 ) % 27T 1 1 i o wreeh e v @ s R oy ) e A e 2
Process of arranging teeths of hack saw towards left and right side alternatively is called

(@) STl T FET / Brushing of teeth (b)  @idl FT T / Hardening of teeth
(c) gafe=ma / Teeth setting (d) 39 H ¥ FE e / None of the above

fraforfiaa 3 @ -, s=-3w & My ad & 27

Which of the following is NOT true for Bench vice?

(a) 9uh =T goral dle | o1 B SR T, TR W A 53 & / Body of vice is made cast iron and
jaws are made of tool steel

(b) T SR o o <, Sife bt SR & S % forq 3w fohar s 8 / Used for gripping a job
during machining and fitting operation

(c) el 1 G& W wehgd & U St % <iel § 7is / Jaw plates have knurling on them for gripping a
job firmly

(d) & o o= T I I Tk Te~allee ogawd1 & fhe foRaT ST & / Vice s fitted on a work bench by a

single nut - bolt arrangement

e 7t feiedt ol e & 2 Tve 2@ ol e % e 35, 359 S8 ea 1 a2

A wedge like tool used for removing the taper shank tools from the nose of drilling machine spindle
is called

(@) dg99® /Drill chuck (b) AgH /Drill key
(c) dJuFEke / Drill socket (d) JuF vEe / Drill drift

T B¢ § 91 o1 % foTe, 8¢ 7 1eR g I1fie

For tapping a hole, the size of hole shall be

(@) % JHERA LT / Larger than the tap size

(b) 7% R A BIeT / Smaller than the tap size

(c) % TR & SRk / Equal to the tap size

(d) 7 S = % s / Equal to the core (minor) diameter of tap

O BT o1 hTH BraT 7
What is the purpose of a Reamer?
(a) UE ST T B F SATHR ! Ie et oY wdteman & over @ = @ / To enlarge the size of

previously formed hole by a small amount with high degree of accuracy

(b) e TEet S B i 7S FA % T g / Used only for enlarging the previously formed hole
(c) foremm e < wae fbfr it gur & fr@ w9 / Used to improve the surface finish of the

existing hole :

(d) IWHHAHIETE / None of the above

5 702 TE(F)



18.

19.

20.

21.

22.

23.

SRR S T3t T o1 ST 27

What is the use of Vernier bevel protractor?

(a) ST HT ANE A9 / Accurately measure the angle of taper

(b) T yu1 %1 TS AT9A / Approximately measure the angle of taper

(c) Haa wifwfteanst 1 aigg AT / Accurately measure the surface irregularities
(d) 3w H A HETE / None of the above

e Asreiex i, 0.01 mm = EepTrees 32 B | el At AT 10.41 mm BT & a T e e?

A micrometer has a positive error of 0.01 mm. What is the correct reading when the micrometer
measures 10.41 mm?

() 10.39 mm (b) 10.40 mm

(¢) 1041 mm (d) 1042 mm

et TR T 36 Wil 7T T S SR healal ¢

The repeatability of a measured value of a certain quantity is knows as

(a) W9F /Measurement (b) TfEffafe / Sensitivity
(c) ufedr / Accuracy (d) ggHan / Precision

wh Sfiet § S Wi H ]

Purpose of Ratchet stop in a micrometer is to

(a) IR FEAESH / Adjust the zero error

(b) =sma e R / Control the pressure

(c) = dms vEws /Hold the work piece

(d) T H IR fsprftet 1 whe / Hold the micrometer during measurement

ﬁwﬁﬂ@ﬁﬁﬁ%&qﬂwms@n,aﬁm%&%{m%wﬁmﬁﬂwaﬂﬁ%mm%? (MSD - §&4
et fefirsm, VSD — e whe fefersm)

Which of the following formula is used to find the least count of a verniercaliper (MSD - Main Scale
Division, VSD - Vernier Scale Division)

(a) g fimet = 1 MSD #17¢d — 1 VSD ¥ / Least Count = Value of 1 MSD — Value 1 VSD
(b) =gam fiFd = 1 MSD #1 e + 1 VSD e / Least Count = Value of 1 MSD + Value 1 VSD
(c) g firet = 2 MSD %194 + 2 VSD 7 / Least Count = Value of 2 MSD + Value 2 VSD
(d) = et = 1 MSD #17ed —2 VSD ¥ / Least Count = Value of 1 MSD — Value 2 VSD

o SRR & Faret ity & T foRam T kel 87

To what accuracy, can measurements be made with a Vernier Caliper

(a) 0.02mm (b) 0.05 mm
(c)- 0.001 mm (d) 0.10mm
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24,

25.

26.

27.

28.

29.

IS & o, FA-T a2

Which is NOT true for a wire gauge?

(a) TR % AL o HIYT %qug?ﬁ / Used to measure the thickness of a wire

(b) =R At foregd wTeTehan o W9 % fTT WY / Used to measure electrical conductivity of wire

(c) U e =, o s S it waie Ry E / Steel disc in which number of holes and slots are
provided
(d) TH=H H I TAe 37 DG I 3G AR A Fafga femamman / Each slots and holes in the disc is

marked with its size

T Tt o fore, Frafofiea § @ -1 shem wd 87

Which of the following statements is TRUE for slip gauges?

(a) g Tve forent Hfiem sirar @ oft ffire e & semr s & / Metal block which are ground and
lapped to a specific thickness

(b) wae! fohfer 3 A9 o foT Sy / Used to measure surface finish

(c) < Haal % ==, gsan a1y feman st 719 & Wk / Used to measure fine air gaps between two

surfaces
(d) %ﬂﬁﬁﬁ@%m@@m?ﬁaﬂ%ﬁmﬁmaﬁﬁ% / Slip gauges always gives

error in desired length when stacked together

e uTg 6l WIeTs ST Frel TE ) hEd &

The number which specify thickness of sheet metal is known as

(a) 3fie 3THR / Sheet size (b) AR 3MHR / Wire size

() 71 /Gauge (d) SWREHARETE / None of the above

Tfeied & @ -8 Site H, 3tz 3% T DR A T e % SRR @R, I i e S a7

Which among the following joints in which end of sheet is placed over the end of another sheet and
joined together?

() @z /Buttjoint (b) =HTSIE / Corner joint
() TuEasE /Edge joint (d A9SIE /Lap joint

Tk 9T o gohe i T Fieh 3R i gelle & wRet, wiifise 31kt 33 ot forem ) o &

The act of giving a desired shape to a metallic piece by heating and then hammering the same is
called

(a) e / Slotting (b) wif<mT /Blanking
(¢) wSH /Forging (d) <EFET / Deep drawing

1 & @ F-an o v 3§ = R s ?

Which of the following operations that cannot be performed on drilling machine?
(@) <efEwT / Tapping (b) T /Reaming
(c) 9% / Drilling (d) <fET / Lapping
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30.

31.

32.

33.

34.

35.

i 3 & F—a e, Th 3o T H 7 1 e T % ToTe STt el fefrt STt 27
Which of the following methods is NOT used to hold the tool in a drilling machine?

(a) ¥ EA /By asleeve (b) = g /By chucks
(c) fTeafmzm /By drill jigs (d) HiR T / By a socket

2x (tan 45° + sin 30° — cos 60°)$H=n?{%
The value of 2 x (tan 45° + sin 30° — cos 60°)

@ O By 1
ey 2 (d) 12

o e =E, mmAD T, m/min & = TR V 2, @ rpm o g ¢ fofea nfa N =1 stk
o foram < gk B

D is the diameter of drill in mm, V is the cutting speed in m/min, then main axis spindle speed N in
rpm is calculated by

(a) N==DV/1000 (b) N=10007zD/V

(c) N =1000V/zD (d N =zD/1000V

e UiSe hicT e i 3ETER °

Example of a multi-point cutting tool is

(a) YU / Milling cutter (b) Terond uften (wsfen i) / Grinding wheel
(c) (a)3N (b) 3T / Both (a) and (b) (d) =ZH7TTA / Turning tool

frffaa § & ST, - 71fd % Tgd FAH, HE 27

Which of the following is correct in the increasing order of cutting speed?

(a) I e Wie-3= T e - T Feligs - €U / High Carbon Steel - High Speed Steel -
Tungsten Carbide - Diamond

(b) =TI W - I e Wi - A Figs - €0 / High Speed Steel - High Carbon Steel -
Tungsten Carbide - Diamond

(c) T TREA eSS - I=a Shie Wiel - 3= i Wid - 810 / Tungsten Carbide - High Carbon
Steel - High Speed Steel - Diamond

(d) & - = FEA W - I W - TR FEise / Diamond - High Carbon Steel - High
Speed Steel - Tungsten Carbide

fra AfSEn T woges stferdior we uftee feisl wm R R?
What is the colour of Oxygen and Acetylene cylinders used for gas welding?

(a) wren-ien /Black — blue (b) iehete o - e / Chocolate brown - blue
(c) @A - = / Grey — Black (d) e - 584 / Black - Maroon

8 702 TE(F)



36.

37.

38.

39,

40.

41.

42.

& TfAd g 311eh feet H Jeg urg W, e wems s 3 s+ sirar & FHEAT 2
Molten flux which solidifies over the weld metal in Manual metal arc welding is called
(a) %I /Slag (b) @ uHIfad SF / Heat Affected Zone
(c) ¥AS AU / Cellulose coating (d) wIw /Flash

Yo 9fed) T §H: SFfeme heetTal

Reconditioning of a grinding wheel is known as

(@) 2R /Truing (b) $f&FT /Dressing
(c) TR / Glazing (d) <@ / Lapping

Freaferfaa & @ sw—ar, SR i = semr =i 87

Which of the following is NOT an example of a finishing process?

(@) 999 /Grinding (b) T / Broaching

(c) fEmT / Lapping (d) =T / Honing

IS T T Ty B

Weld spatter refers to

(a) Thgtamftd /Filler Material (b) Hieew fgeng / Soldering Alloy
(¢) (a) 3 (b)3H1 /Both (a) and (b) (d) sw=3fe / Weld defect

FfcrRaa & & w7 -, S vl & R ad 27

Which of the following is TRUE for lapping process?

(a) 9, gz arElt @ i 3Eeh! STgedhi & = fRT ST R / Lap is a soft material and is charged
with abrasives

(b) <9, T R @t R 3 3wt 7g it & <] R ST R / Lap is a hard material and is charged

with soft materials

(0) 9, Th SRt R sEeR! arqedent & Tt v s / Lap is a hard material and is charged

with abrasives

(d) 3ITEFFHE T / None of the above

Toh T AR STEet #, Teh 40.000(+0.040/+0.060) mm ¥ TR I M9 ThH 40.000(+0.000/+0.030)

MM SR 6 B% & T S & | Sravsred s =<ga sway (A wfiend) 2

In an interchangeable assembly, a shaft of size 40.000(+0.040/+0.060) mm mates with a hole of size
40.000(+0.000/+0.030) mm. The minimum interference (in micro meters) of the assembly is

(a) 40 (b) 30

(c) 60 (d 10

Teh 5T o ST o 19 ST ) Fad &

The measured size of the dimension of a component is called

(a) M ARR / Nominal size (b) 37gHa AR / Allowed size
(c) draless ATHR / Actual size (d) HT AEHR / Basic size

9 702 TE(F)
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43.

44,

45.

46.

47.

48.

fmtor o “ggran’ 1 &

Purpose of ‘tolerance’ in manufacturing 1s

(a) = HTA o S9ANT 1 & & %A &1 / To minimize the raw material usage
(b) = w9F =M / To reduce the time of manufacturing

(¢) 9T WK A / To reduce the weight of the part

(d) iR st =Rt ferergpet Seft STeRTE o ATfirelt & & ST S Hehdl / Because part cannot be
manufactured to exact size or geometry

Tauef gerar =1 e, Frafafaa § & FR-we?

Which of the following is an example of bilateral tolerance?

(a) 25i0,{)l (b) 25+0.ﬁ0f+0,02
(6] 5N (d) IWHEHIFREAE / None of the above

T T % ST A Fera @ 3 e wmn o offe % ofwR i Fed 2

The difference between higher limit and lower limit in dimensioning of a part is called

(a) 3remaw / Allowance (b) fF=™ /Clearance
(c) T%e /Fit (d) ¥« / Tolerance

a2 = 4508, I Sin20 + Cos20 % TH &
If § = 45°, then the value of Sin®0 + Cos’0 =

@ 0 (b) 1
k) 2 ‘(d) 172
FEHIYER & S B i wfsen @

The process of soaking during heat treatment is
(a) o i ovaftr o for, wie 1 aue aoE WA % foIT / To keep the steel at the same

temperature for a certain period
(b) Ut fsges o et ! FAFT / To quench the steel by spraying water

(c) TeRzarH, =+ FM % qUEH WA o ¢ 381 %/ To cool the steel to room temperature in

still air

(d) = wrew Wit 3 e wae S w3 FH % Y / To harden the outer surface of low carbon steel

e Ty oTg aeal A T diel 8 | gEU, -9 e g ag a7

One of the alloying elements in Bronze is Copper. Which is the other main alloying element?
(a) #@r /Lead (b) W / Chromium

(c) T5=k /Zinc (d T4 /Tin

10 702 TE(F)
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49.

31,

32.

53.

54.

55.

Frafafad O & sH-a1 Lo Wia & fierang & fore oe a2 27
Which of the following is NOT true for a Stainless steel alloy?
(a) SEHFIWEHEEIR /It contains Chromium

(b) ZEHSWUN TR /It is having anti-corrosion property
(c) TR=gdWREMIe /Itis very brittle

(d) 3s9Acs fFRTsTEEare /It is weldable

foreft meft o syendor wicdier st e heardt @

Ability of a material to resist abrasion is called

(a) 3Rar /Hardness (b) @=ar /Ductility

(c) e / Stiffness (d) mETa aedar / Malleability
Rrreren wiet 1 g firy og 9 &

Main alloying elements of Stainless Steel are

(a) It 3R = / Chromium and Zinc

(b) i 3 fha / Chromium and Nickel
(c) wIfEm 3R afar / Chromium and Copper
(d) wIfe 3R 2@ / Chromium and Tungsten

forerm S geraT 27

Which one is having the highest density?

(a) TegMHEH / Aluminium (b) 2Fem / Titanium
(c) & / Copper (d) = /Gold

54 m23hT el SAbd 3R 2 kg/m3 ht T o 5 ol STHT 41 BT 7

What is the mass of a cube having surface area 54 m” and density 2 kg/m?

(a) 54 (b) 108

© 9 d 27

Al @lg H, Shiel ohl STCTaaT SRTS 3T Bt ?

What is the approximate percentage of Carbon in Cast iron?

(a 4to6 (b) 2to4

(c) 05t0l.5 (d 0.05t00.5
Ffefaa 4 @ -1, goal @ & e ad @

Which of the following is TRUE for Cast iron?

(a) 371 S Ugehal @1 / Having good corrosion resistance

(b) A g |l % ¥ H sgarIa § g% / Widely used as cutting tool material

(c) oo fmfor o fore sgaraa & wgw / Widely used for manufacturing Lathe beds
(d) i s gi=i & Fmfor s %Qu'g?ﬁ / Used for manufacturing of automobile bodies

11 702 TE(F)



56.

87

58.

59.

- 60.

61.

e five o Sufesrd gt = A 6t hed @

Quantity of matter contained in a body is called

(a) =99 /Mass (b) ¥R /Weight

(c) =4ca / Density (d) A™GA / Volume
Sged sl qIieTive forar sirar @

Inertia is defined by

(a) =g Tia 1 99| =0 / Newton’s first law of motion

(b) =g o e <1 feefiar P / Newton’s second law of motion
(¢) =A% Tfd o gaid @ / Newton’s third law of motion

(d) a7 % Giagur s Hga / Law of conservation of momentum

oRTS Torehicl shl Ieael oA o ToTT STTervareh et hl gd &

Force required to produce unit deformation is called
(a) d=xar /Ductility

(b) S 1 Ufderd s / Percentage reduction of area
(c) s / Stiffness
(d) 3War / Hardness

R S T, T Aifcaen werd foepfa-sioee o , fora forg a9, g o1 fram @ grar 27
Hooke’s law is applicable up to which point in stress — strain curve of a metallic material under
loading?

(a) s uise /Yield point (b) v aAmE feig / Ultimate stress point
(c) wfTiEe / Breaking point (d) sefees ferfie/ Elastic limit

T 908 o X 300 RIEH T st foharfai 2 3 a8 st o o & 10 wiex i ot a6 o 21 o o ek
-

A body is acted upon by a force of 300 Newton and body has moved to a distance of 10 meters in
the direction of force. Then, work done will be

(@) 3000ga / Joules (b) 3000 =gg= /X / Newtons/metre
(¢) 30sgd /Joules (d) 3000aE / Watts

< IUT, T TorReiter § =it T1Teft 379 163 <t et 21
Piercing of a bullet, fired from a gun, into its target is due to

(a) TR / Potential energy (b) TfesI S / Kinetic energy
(c) W / Acceleration (d) @mEMF S / Chemical energy

12 702 TE(F)



62.

63.

64.

65.

66.

67.

68.

i F T e FHEATdI B

Capacity to do work is called

(@) FT / Momentum (b) smEEiEA / Torque
(c) it /Energy (d) w6 /Power

TR BISA1 3 cm @1 34TE 10 cm h Yigh o1 TG
Volume of a cone of base radius 3 cm and height 10 cm is

(@) 94.2cm’ (b) 31.4cm’
(c) 282.6cm’ (d) 1884 cm’

Frafefaa # & w9-a1 %em Tt 27
Which of the following statements is CORRECT?

(a) vl S THE, T T e o fooid s @ @ / Frictional force always acts opposite to the
applied force

(b) =rfvita S, Toeh e o ofte wraT= wfsha 1 Wi ®9 @ srgarfess @ / Frictional force is indirectly
proportional to the normal reaction between contact surface

(c) =N s AlFa o & / Frictional force is an active force

(d) ¥k HagE % &7 37T TR ¥ Wad erar 2 T s / Frictional force is independent of area and
shape of contact surface

RITH 37T & W T4 <67 AT &

Ratio of effort arm to load arm is

(a) e @ / Mechanical Advantage (b) @ &waT/sgar / Efficiency
(¢) 2% /Fulcrum (d) 3=/ Leverage

A ST T AT BT &

Fluid pressure is measured by

(a) Trie=@¥ /Pitot tube (b) FAHIEXA / Manometer

(c) i@ / Hygrometer (d) <RI A / Lactometer

sifer— i i argerar e saen wdor 3

Friction experienced in ball bearing is

(a) Tae==dur / Sliding friction (b) fRr=ur/ Static friction
(c) feedor / Rolling friction (d) gE=NY / Dry friction
T THaTg B i1 e g R R

The centre of gravity of equilateral triangle is located at
(2) ¥ /Vertex

(b) i J wer forers F=md @ / 1/3™ height from vertex
(c) mumEarfoaer =8 w / 2/3™ height from the base
(d) omumE us foerd I9 W / 1/3™ height from base

13 702 TE(F)
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69.

70.

71.

72,

12

74.

8.

T W I, T s1ae & Wi o, 5 Ave & 125 m gl 7 ohiaT § | 36 @ m/s? § ———— R
A motor car starting from rest travels a distance of 125 m in 5 seconds. It’s acceleration in m/s” is
(@ 5 (b) 10
() 15 (d 20

Ife § =45 ferft 2, a1 Sin 20 + cos 20 FUF 2

If 6 =45 degree, then the value of Sin 20 + cos 26

(a) 1 (b)y 12
(c) 173 @ 0

g5y - 14 =18+ 3y?,dy?
If 5y — 14 =18 + 3y, then y

(@) 32 (b) 4
() 16 d 22

afg v M it B R, at e ?
If °r’ is the radius of a sphere, its volume is given by

(a) 4nc’/3 (b) 3ar/4
(c) 4mr’/3 d) 3m¥4

Ifg (a2+ b2) =58 3fNab=2%,d (a+b) FAAE

If (a*+b*) = 5 and ab is 2, then the value of (a + b) is

(@ 5 (b 4
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How many pieces of 10 cm diameter can be cut from a metal sheet of size 100 x 120 cm,
neglecting cutting allowance?

(@ 110 (b) 120
(c) 130 (d 140
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Time required to fill water in a tank of size 4 x 3 x 8 metre with a pump whose capacity is
240 litres per minutes

(a) 400 T / minutes (b) 500 e / minutes
(¢) 550 f#e / minutes (d) 600 fi7e / minutes
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